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Unit I – Mathematical Analysis, Data Analysis, and Probability

1) What are the prime factors of 60?

a. 3 x 4 x 5

b. 2 x 3 x 10

c. 2 x 2 x 3 x 5

d. 2 x 2 x 15

2) What is the average test grade for the scores: 92, 95, 100

a. 100

b. 97

c. 98

d. 96

3) Circle the numbers that are divisible by the number 3?

a. 234

b. 121

c. 233

d. 110

4) 56, 64, 72, 72, 81, 83, 97  
sample explanations.
mean is       75                    because the sums of 525 divided by 7 equals 75.                                                        
mode is       72                    because 72 is repeated the most in this number set.

median is  72                      because 72 is the middle number of the ordered number set.

5) What is the probability of rolling the number five on one roll of a    

six-sided dice?
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Unit II – Rational Numbers

6) Which fraction is greater than 9/8?

a. 10/9

b. 6/7

c. 7/8

d. 7/6

7) Which of the following statements are true?

I.  4/5 = 0.8

II. 4/40 = 10%

III. 45% = 9/20

a. I and II are true.

b. II and III are true.

c. All the statements are true.

d. None of the statements are true.

8) Kimo weighed himself two weeks ago at 123 7/8 pounds.  

     He lost 2 3/4  pounds last week.  What is his approximate weight 

     now?  

a. 126

b. 120

c. 121

d. 125


9) If               represents 3/5, what does                          represent?  

     Explain your answer.
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  or  3.6
   10)  You are given 480 hot dogs to sell.  You have sold 7/8 of the hot 

          dogs by the end of the day.  How many hot dogs are left?
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 = 420;

480 – 420 = 60 hot dogs are left.
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Unit III - Measurement

Use the following figure to answer question # 11

                  14’

                       9’

18’                                          23’

                       

11) Find the area of the floor of the living room.

a. 207 sq. ft.

b. 252 sq. ft.

c. 459 sq. ft.

d. 666 sq. ft.

12)  Leilani drew a square.  Kalani drew a square with sides 5 times the 

       length of the sides of Leilani’s square.

Leilani’s square.

a.  Draw a Kalani square.


	
	
	
	

	   
	
	
	

	                 
	
	
	

	
	
	
	


b.  How many of Leilani’s square fit in Kalani’s square?

24 squares

c.  How many times smaller is the area of Leilani’s square than Kalani’s.


24 – 16 = 8 squares units

Use the following figure to answer questions 13 and 14.


                                               C


                                                                        D

                                

                                G                                     H 


13) Which line is a tangent?

     

a. AB

b. CD

c. EF

d. GH

14) Which line segment is a diameter?

a. AB

b. CD

c. EF

d. GH

Use the table below to answer questions 15a and 15b

	#  of Triangles
	Perimeter of combined equilateral       ‘s
   ‘s

	1
	3

	2
	4

	3
	5

	4
	6

	5
	7



15a.  What is the perimeter of  10 equilateral 
   ‘s ?


                                        12 

15b.  Explain the pattern that you would use to determine the perimeter of 100  

         equilateral         ‘s ?


        sample explanation:   Add 2 plus every number of triangles.  

                                           2  plus 100 = 102

Unit IV – Integers and Coordinate Geometry

16) Which one of the following number is between the given numbers?

                                               -2 and 1

a. 2

b. 1.5

c. -1.5

d. -2.5

17) Solve.
18)  Solve.

(-8) – 3

(4)(-7) + 5


a. -11              
a.  2

b. 11
b.  -23

c. -5
c.  -16

d. 5
d.  -475

19)      


a. Draw the next  six (6) shapes in the pattern.


b. Explain the pattern.  




sample explanation:   The number of circles and squares increase by one 

                                    in number each new pattern set.
    20)  A straight line on a graph passes through the points (5,3) and (-4, 0).


	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


a.  Plot the points and draw the line passing through those points.

     See ploted points and line above.
b. Find the slope of the line.  Explain your answer.

    Sample answer:   Rise = 3    
                                  Run = 9

The vertical distance between (-4,0) and (5,3) is 3, which is the rise.

The horizontal distance between (-4,0) and (5,3) is 9, which is the run.    
c. Find another point on the line.  

    Example:   (2,2) is another point on the line.  See the graph above.
Unit V – Functions and Equations

21)  Simplify.

          4 + 3²

a. 9

b. 36

c. 10

d. 13

22)  Find the equivalent to the following expression.

                                  106
a. 1,000,000

b. 106

c. 16

d. 60

23)  Evaluate V = 126 – (5/4)h, when h = 60.

a. 62

b. 51

c. 73

d. 186

24) Study the input-output pattern in the table.

	Input
	Output

	1
	4

	2
	8

	3
	12

	4 
	16

	5
	20

	:
	:

	10
	40


a. Complete the table.

          See the circled numbers above.
b. Write a rule relating the input and output.  Explain your answer.

Output = 4 times Input   OR    Output = 4Input    

25)  The freshman class has rented the ice skating rink for a fund raising 

       event.  The rent is $500.00.   Tickets are $10.00 for each person. 

a. Use functional language to represent the situation by completing the following statement.

        Profit   depends on the number of   tickets sold.
b. Write an equation that represents the relationship in this situation.      

     Define the variables.

     
     P = profit (gross) or M = money 

     T = tickets sold

      P = $10T

c. Create a table showing values for which the function is defined.  Show 

     how you calculated each table entry.

       Example table of values.

	Tickets sold
	Profit

(gross)

	20
	200

	40
	300

	60
	400

	80
	800

	100
	1000


Living room
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F
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1
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(2,2)
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